[ ]
— h —
AT EEJIU=ET ECIEDIN 71752
=5 AY/MIFE ololx]|
k]
THE:
X3 sES E2E FAL,
AZBI O ATZTE AE]
EM OlF2|:
ofed =& L m|atR2
]
L1
L2
- G o L3
— \ Q 7___
\\ ju
——
H9
D3 D13y
| L5
I
ES2%
2= EEJ U= X3 E2IE DIN 71752
TEHS EH OLF 2 B G D1 D2 D3 L1 L2 L3 L5 L6 A
K0731.03508 QEETO| LA 4 8 4 M3,5 8 21 16 6 15 10 8
K0731.0510 LEEZEO|LIA 5 10 5 M5 9 26 20 7,5 19 12 10
K0731.0612 LEETO| LA 6 12 6 M6 10 31 24 9 23 14 12
K0731.0816 QEELO| LA 8 16 8 M8 14 42 32 12 31 19 16
K0731.0832 LEETO| LA 8 32 8 M8 14 58 48 12 47 19 16
K0731.1020 QLEETO| LA 10 20 10 M10 18 52 40 15 39 23 20
K0731.10120 QEELO| LIA 10 20 10 M10x1,25 18 52 40 15 39 23 20
K0731.1040 LQEETO| LA 10 40 10 M10 18 72 60 15 59 23 20
K0731.10140 LEETO| LA 10 40 10 M10x1,25 18 72 60 15 59 23 20
K0731.1224 QEELO| LIA 12 24 12 M12 20 62 48 18 47 28 24
K0731.12124 LEETO| LA 12 24 12 M12x1,25 20 62 48 18 47 28 24
K0731.1248 LEZZO| LIA 12 48 12 M12 20 86 72 18 69 28 24
K0731.12148 QEELO| LIA 12 48 12 M12x1,25 20 86 72 18 69 28 24
K0731.1428 LEETO| LA 14 28 14 M14 24 72 56 22,5 52 31 27
K0731.1632 LEEZEO| LIA 16 32 16 M16 26 83 64 24 62 36 32
K0731.16132 LEEEO|LIA 16 32 16 M16x1,5 26 83 64 24 62 36 32
K0731.05101 2I&Z 0| LEAL 5 10 5 M5 9 26 20 7,5 19 12 10
K0731.06121 2l&zo| LEAL 6 12 6 M6 10 31 24 9 23 14 12
K0731.08161 I 0| LEA 8 16 8 M8 14 42 32 12 31 19 16
K0731.08321 2I&Z 0| LEAL 8 32 8 M8 14 58 48 12 47 19 16
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



[ ]
— h —
AT EEIQU=ET E2IE DIN 71752
520
TEHS EHotFe B G Di D2 D3 L1 L2 L3 L5 L6 A
K0731.10201 2l&F0l LEA 10 20 10 M10 18 52 40 15 39 23 20
K0731.10401 2IEZF0| LEAL 10 40 10 M10 18 72 60 15 59 23 20
K0731.12241 RIEZOo| LIAL 12 24 12 M12 20 62 48 18 47 28 24
K0731.16321 RI&F 0| LEAF 16 32 16 M16 26 83 64 24 62 36 32

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



